«MaTemaTuka
ycTynaer
CBOU KpenocTu NULlb
CUNMbHbLIM U
CMenbiM»

b. lNackanb
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CyTK MUHYTa CeKyHAaa -
¥OHUELI BpEMEHM.






EavHuubr BpemeHu -
CeKyHAQ

1 ceKyHAa = 1 MUHYTHI
60



[Tpnbop ans
N3MepeHU
BPEMEHMN
TOSIbKO B
CEeKyHaax -
ceKyHaomep







Ne 3 ¢. 90

1MUH 30C= C
1 MUH 5 C = C
1 MUH= C

2

1 MUH= C

4



145MUH=  MUH
1420 MUH=  MUH
1 Y=  MUH
12



3apa4vya Ne 4 (a) c. 91

byrepOponoB KoimyecrBo byrepoponos
3a 1 CeKYHAY CeKYH] BCEro
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EavHuubL BpemeHU -
CeKyHAQ
1 ceKyHAa = 1 MUHYTDI
60

[Tpnbop Ana nsmepeHuns
BPEMEHW TONbKO B CEKYHOAX -
ceKyHagomep



[lomalluHee 3agaHue
C.91 N2 4(06), Ne 7



CMNACUBO
3A YPOK!




